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|dentifying Decimal Equation Patterns Name:
Use decimal multiplication and division rulesto fill in the blank. Answers
1) +10 = 459.4
1.
2) 10,074+100 =
2.
3) +1,000 = 959.633
3.
4) 110.682x10 =
4,
5) 172.4x =172,400
5.
6) x1,000 = 138,748
6.
7) 629,492+ = 629.492
7.
8) 78,678.2+100 =
8.
9) 3,899.6+10=
9.
10) 880.342x1,000 =
10.
11) 473.98x = 473,980
11.
12) 837,252+1,000 =
12.
13) 744.4x10=
13.
14) 379,800+ =379.8
14.
15) 385.8x = 38,580
15.
16) x10 = 2,719.2
16.
17) +10=528.2
17.
18) 626,320+ = 626.32
18.
19) 441.2x = 44,120
19.
20) x100 = 4,434
20.
1-10 [95][90]85[80[75] 70 65] 60 [ 55| 50
www.CommonCoreSheets.com 11-20|45(40(35|30(25(20|15|10| 5| O




Identifying Decimal Equation Patterns Name: Answer Key
Use decimal multiplication and division rulesto fill in the blank. Answers
1) 4594 =+10=459.4
1 4,594
2) 10,074+100= 100.74
2 100.74
3) 959,633 +1,000 = 959.633
3 959,633
4) 110.682x10= 1,106.82
2 1,106.82
5) 172.4x 1,000 = 172,400
5 1,000
6) 138.748 x1,000 = 138,748
6. 138.748
7) 629,492+ 1,000 =629.492
7 1,000
8) 78,678.2+100= 786.782
g (86.782
9) 3,899.6+10= 389.96
9 389.96
10) 880.342x1,000 = 880,342
10. 880,342
11) 473.98x 1,000 =473,980
11 1,000
12) 837,252+1,000= 837.252
12 837.252
13) 744.4x10= 7,444
13, (444
14) 379,800+ 1,000 =379.8
14, 1,000
15) 385.8x 100 = 38,580
15, 100
16) 27192 x10=2,719.2
16, 271.92
17) 5282 +10=528.2
7. 5,282
18) 626,320+ 1,000 =626.32
- 18, 1,000
19) 441.2x 100 =44,120
19. 100
20) 4434 x100=4,434
o0 44.34
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